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Answer the following questions: 
 
 
1- The hook supports the two cable forces F1 = 500 N and 

F2 = 300 N. If the resultant of these forces acts vertically 
downward and has a magnitude of FR = 750 N, 
determine graphically the angles   and   of the cables. 

 
 
 
 
 
2- Determine the magnitude of angle   of F  
    so that the particle is in equilibrium. 
 
 
 
 
 
 

 
3- Replace the three forces acting on 

the shaft by a single resultant 
force. Specify where the force 
acts, measured from point B?. 

 
 
 
4- Determine the horizontal 
and vertical components of 
reactions for the hinge at 
point A and roller at point B. 
Neglect the weight of the 
beam in the calculations. 

 
 

Good Luck 


